SYsb L sl p oSl

V¥4 Y 3T YA

align .ﬁ:».a w il -\:..g.&: JKJ}S O g B J}AJS .A:.ab:d breqn i\:.w: 51 eslazul Lv
Al g mh € 5> breqn Al

(Eh + YES>

x x x
E Bimumj + E : Aimwmj § Bimwmj
m=\ m=)\ m=)\

N, Ny Ny
[VER+ G YE*| | SN A, AL v + | DAY win
m=\n=\ n=\

Nz Ny
A A Wi, | | [Gh+ Y (Yp® —7° Z B win +
m=\n=)\
m=)\ n=\ m=)\
Z B} iin
n=\
A Y Ny A
(Bh+YE) | Bl + | 3 AYwin By Wi (vEn +
n=\, n=\,
Nm Ny N\E
Gh+ YE*) Ap A n + (Z AMma) >
m=\n=\

Nz NZI
x Yy .
Z Bimvmj—’_ Z Ajnw”l
m=)\

n=\ n=\

Ny

(Z Bj W = phi;; — pph (Z B} Um; + + Z B Uin

m=)\ n=\

N
fmA?;nwmn) +[Gh + Y (Yp® —7°



[Tee (V, V) + YTee (8, 1) + Ty (¥ ZDmem; WSS+ Bk | +

m=)\
N,
[Tee (1, Y) + YTre (6, Y) + Te (Y, Y)] ZDynmerB"\/‘m +Bj\rin, | +

Nr] N{
b b
e (1,5) + YTre (0.7) & Tre (V1N 3 A, | 30 Chin + A5, + 4l
n=>\ m=)\
Ne Ny
ni’in) + [Ter (V, ) + YTrr (8, F) + Tre (Y, F)] D A5, Z 7 why + AT

m=)\
6 Nn
+A]N KJN n) + [T\c\c (\ 0) + “Tff (0 0) +T\c\c Y O Z ZBme?" Wn Y/LTS

m=\n=\
Ne¢
—Yur Q [Tee (V,)) + YTre (8,)) + Tre (Y, V)] D Diwsy; + [Tee (1, Y) +
m=)\
NU
YTre (8,%) + Tee (Y, Y)] > DI ws, + [Tee (V,¥) + YTrr (8,7) + Tie (Y, ¥)].

n=\

3
> ZofmAyn S+ [Ter (V,F) 4+ YTer (8, %) + Tre (Y, ¥)] Z ZAfmcj"nwanr
m=\n=\ m=\n=\

N& Nn
[T (V,0) + YT (8,0) + Tre (Y,0)] > Y B, Bl wp,, ¢ + (kGh + Y77).

m=\n=)\

N, Ny
Toy (1)) ZBW wii + Ty (1, Y) ZB"nmerTn (V, %) ZZAfmAyn ws,,
n=>\

m=\n=\

a\’ N§ NTI
+(YT + pm. at*> Ty (V,0) Y Bf,, (whyy +wh) + Try (), V) Z 7w,
m=)\

N 0" (wh; + w3,
Z Z AfmA?n mn + wfnn) =m. ((;trj)

m=\n=\



